———

m-_-rm button Yo save your answer and move 1o i nexi quasiion

]

A company is looking 10 recrot a person for o one . ol progect Tor o sjpeecifiod peod. Which of th Tollowing types of
Al Pemanent contrisct

B ¢ Flesi-tma contmct
i  Par-bme contract
i} v Flued loem contract

suabrmit torward
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e NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2079
o Time Remaining (minutes:seconds) : 13:25

ress

1ave completed 23 out of 30 questions.
structions

ition
{he Submit -= Forward button to save your answer and move to the next guestion

A box contains 4 red balls, 5 green balls and & white balls. A ball Is drawn at random from the box. What is the
probability that the ball drawn is either red or green?

A) 2/5
B) @ 35
C) 1/5
oj 7415

Mizke
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Mike

Test - NPDC/SEPLAT Undergraduate Scholarship Sereening Test 2018/2019

¥ are takona the (o owing 1est
Meme NFOCSEFLAT Undergracuste Scholarship Screering Test Z005/207%

Timer  [Time Remaining (minuteeseconds) - 2547

Frogresa
b e completed 74 cuf of 30 guestians.

Wou

the Submifl -» Fomwand bution to save your anower ond move (o the nexi question

1 0,30 08,(7), 33,48

A) Fi-]
B o 24
©l m
o) Fil

& Saved data Show original X
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Mike

Test - NPDC/SEPLAT Undergraduate Scholarship Sereening Test 2018/2019

¥ are takona the (o owing 1est
Meme NFOCSEFLAT Undergracuste Scholarship Screering Test Z005/207%

Timer  [Time Remaining (minuteeseconds) - 2824

Progresa
b e completed 11 cof of 30 guestians.

Wou

the Submifl -» Fomwand bution to save your anewer ond move (o e nexi question

1) 4857431 117

A 1
] 13
ol =
oj g 4%

& Saved data Show original X




©mBp CAH.'E m63% 10:37m

< @ Seplat Petroleum Development Company | Test - NPDC/SEPLA...

htt www.mytestcom.net

Name WPDC/SEPLAT Undergraduate Scholarship Soreenimg Test 2008/2010
Timer Time Remaining (minules:seconds) | 22:49

Frogress

‘You have completed 18 cut of 30 questions
Instructions

Question
Use the Submit -> Forward button to save your answer znd move to the next question

19) He the cards among the players.
Al deals with
B) deals by

C)y @ deslsow

[H] deals in

Mizke
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Test
You are taking the following test

Name MPOC/SEPLAT Undergraduste Scholarship Screening Test 2018/2010
Timer  Time Remaining (minutes:seconds) @ 8:04

Progress
You hisve completed 26 out of 30 guestions

Instructions

Question

Lise the Submit -> Forward button to save your answer and move to the next question.

n The average age of 36 students in a group (s 14 years. When the teacher's age is incleded, the average increases by
one. What iz the teacher’s age in years?

Al 3
B} 36
cj 51
K} Cennct be determinad
E) 40

Stop and Restart/Resume Later

Miz2ke
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e taking the following test:
MNPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019
Time Remaining (minutes:seconds) : 17:40

]

we completed 21 out of 30 questions
ructions

|lon
& Submit -> Forward button to save your answer and maove to the next question

Two cars P and Q start at the same time from A and B which are 120km apart. If the two cars travel In opposite
directions, they meet after one hour and if they travel in same direction (from A towards B), then P meets Q after
hours. What is the speed of car P?

A) &0kmph

B) 70kmph

) 120kmph

o) Data inadequate
E) None of these

Stop and Restart/Resume La|

Mizke
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Name NPDC/SEPLAT Undergraduste Scholarship Screening Test 2018/2019
Timer Time -Eé‘r!.'la-il'lil.'l-l.l_l LFrln'-ﬁies seéonds]- 4276

Progress

You have completed 3 out of 30 questions.

Instructions

Question
Jze the Submit -= Forward button to save your answer and move to the next guestion.

Calculator

4) Throughout the 1950', there were increases in the numbers of dead birds found in agricultural areas after pesticide
sprayings. Pesticide manufecturers claimed that the publicity given to bird deaths stimulated voluntesrs to look for
dead birds, and that the increase in numbers reporied was atiributable to the increase in the number of people looking.
Which of the fellowing statements, if true, would help to refute the claim of the pesticide manufacturers?

Al The publictty given to bird deaths was largely regicnal and never reached national
proportions.
B) Pesticide sprayings wers timed to coincide with various phases of the life cycles of the

inzects they destroyed.

C) Mo provision was made o ensure that a dead bird would not be reported by more than
one observer.

o) Initial increases in bird deaths had been noticed by agricultural workers long before any
publficity had been given to the matter

Submit -= Forward

Stop and Restart/Resume Later
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Name NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019
Timer |Time Flérnamlng (minutes:seconds) - 23:45

Progress
You have completed 17 out of 30 questions

Instructions

Question
Use the Submit -> Forward button to save your anawer and move 1o the next question.

18) There |s pleasure in a debtor which none but a creditor can know

A) daing with
B} daoing up
c) daing for

Dy s doing away with

Mizks
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e NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2079
o Time Remaining (minutes:seconds) : 14:09

ress

1ave completed 23 out of 30 questions.
structions

ition
{he Submit -= Forward button to save your answer and move to the next guestion

A box contains 4 red balls, 5 green balls and & white balls. A ball Is drawn &t random from the box. What is the
probability that the ball drawn is either red or green?

A) 2/5
B) 35
C) 1/5
oj 7415

Stop and Restart/Resume L3

Mizke
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NPLC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019
|Time Remaining (minutes:seconds) : 14:53

=

re completed 22 out of 30 questions.
uctions

mn
Submit -» Forward button to save your answer and move to the next question.

The MegaTek Corporation is displaying its distribution of employees by department in a circle graph. The size of each
sector of the graph representing a department is proportional to the percentage of total employees In that department.
I the section of the circle graph representing the manufacturing department takes up 720 of the cirele, what
percentage of MegaTek employees are in manufacturing?

4) 20%
8) 25%
) 30%
) 35%
E) 72%

Stop and Restart/Resume Later

Mizke
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Timer  Time Remaining (minutes:seconds) : 38:56

Progress
You have completed 6 out of 30 guestions

Instructions

Question
Use the Submit -=> Forward button to save your answer and mave to the next question.

7} Which of the following would net form part of the controct of employment?
&) Period of notice
B) Frequency of payments
C) Halidays entitlement
D) Marital status

Submit -= Forward

Stop and Restart/Resul
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e NPDC/SEPLAT Undergraduate Schelarship Screening Test 2018/201%
er  [Time Remalning (minutes:seconds) : 11:25

JrEss

have completed 25 out of 30 questions.
structions

stion
the Submit —= Forward button lo save your answer and move to the next question

i In a case, 30% of the students offered English, 20% offered French and 10% offered both. If a student is selected at
random, what is the probability

A) 25
g)

cj s
o) /10

Stop and Restart/Resume Latd

Mizke
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15t - NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019

Test

u are taking the following test

me MNPDC/SEPLAT Undergraduate Schalarship Scresning Test 2018/2019
ner  |Time F}Eﬂm-nmg {minutes:seconds) 23012
IGress

u have completed 20 out of 30 gquestions
Instructions

estion

e the Submit -= Forward button to save your answer and move to the next question.

alculator

1) A man buys H20 shares paying 9% dividend. The man wants to have an interest of 12% on his money. The markst
vialue of each share is:

A) w1Z
B) w15
c) w18
o) 21

Stop and Restart/Resume Later

Mizks

& Saved data Show original X
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Mike

Test - NPDC/SEPLAT Undergraduate Scholarship Sereening Test 2018/2019

¥ou are takreg the (odowing est

Meme NFOCSEFLAT Undergracuste Scholarship Screering Test Z005/207%
Timer  [Time Remaining (minuteeseconds) - 2715

Frogresa
b e completed 12 cuf of 30 guestians.

Wou

the Submifl -» Fomwand bution to save your anewer ond move (o e nexi question

13 3,015,234, 39,7

A 44
] 13
ol a7
D) g 4E

& Saved data Show original X
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Name WNPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019
Timer |Time Remaining (minutes:seconds) _1'_' 52

Progress
‘You have completed 19 out of 30 questions.

Instructions

Question
Use the Submit —= Forward button to save your answer and move to the next question

20) We should with the dowry practice

A) e dowith

B} do up
C) do for
o) do away with

Mizke
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Name NPDC/SEPLAT Undergraduate Schelarship Screening Test 20182019
Timer Time Remaining {minutes: seconds) - 33:59

Progress
You have completed 10 out of 30 guestions

Instructions

Question
Usa the Submit -= Forward button to save your answer and move to the next question.

Calculator

1) 67,5749

A) 3
B) 7
C) ]
D) 9

Submit == Forward

Stop and Restart/Resuime L a
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Test - NPDC/SEPLAT Undergraduate Scholarship Sereening Test 2018/2019

¥l are 1Ak the (o owing 1est

Meame NFOC/SEFLAT Undergracuste Scholarship Screering Test 2018/207%
Timer  [Time Remaining fminuterseconds) : 4355

Frogresa
*ou fawe completed 1 outo

- Forward bution to save your answer and move (o the nexi question

Calcutalor
2} which of the fallowing sectom would the NHE be part af?
&) private sector
B Public secior
ol Waluntary sector
oj Incustrin mector

Sunmit

Stap and Resiart/Resume Later
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FTAKING TNE TCNOW
NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019
TimE"F!'emamm'g {minutes:seconds) : 15:15

55

ve completed 21 out of 30 questions.
uctions

n
* Submit -= Forward button to save your answer and move to the next question.

Two cars P and 0 start at the same time from A and B which are 120km apart. If the two cars travel in opposite
directions, they meet after one hour and If they travel In same direction (from A tewards B), then P meets Q after
hours. What is the speed of car P?

A) BOkmph

B 70kmph

C) @ 120kmph

(1)] Data inadequate

E) None of these

Mi2ke
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Test - NPDC/SEPLAT Undergraduate Scholarship Sereening Test 2018/2019

¥l are 1Ak the (o owing 1est
Meame NFOC/SEFLAT Undergracuste Scholarship Screening Test 2005/207%

Timer  [Time Remaining (minuteeseconds): 3543

Frogresa
*ou fawe completed § out o

-» Fanwand bution to =

® your answer and move {o the nexi question

) Fisberts is sald by hin line manager that kis work iz nutug'\u etandard snd that he must enroll on 8 specific coorse.
which of the fallowing issues i the mansger deafimg wi

L] Training

B} Grievance
[ Fromatian
oy p=motion

Stop and Restart/Resume Later
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NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019

Time Remaining (minutes:seconds) : 13:03

5

e campletad 24 out of 30 questions.
ictions

m
Submit —= Forward button to save your answer and move o the next question

[ator

If the height of a triangle is decreased by 40% and its base is increased by 40%, what will be the effect on its area?

A) Mo change

B) 8% decrease

C) 16% increase

o) More of these

Stop and Restart/Resume La
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& Saved data Show original X
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Timer |Time Remaining (minutes:seconds) : 43:00

Progress
You have completed 2 out of 30 questions

Instructions

Question
Use the Submit -= Ferward bution 1o save your answer and move fo the next question.

Calculator

3) Advertiser: The revenue that newspapers and magazines earn by publishing advertisements allows publishers to keep
the prices per copy of their publicstions much lower than would otherwise be possible. Therefore, consumers benefit
economically from advertising. Consumer: But who pays for the advertising that pays for low-priced newspapers and
magazines? We consumers do, because advertisers pass along advertising costs to us through the higher prices they
charge for their products. Which of the following best describes how the consumer counters the advertiser’s argument

A) By aileging something that, if true, would weaken the plawsibility of the advertisers
conciusion
B) By guestioning the truth of the purportediy factual statement an which the advertisers

conciusion is based

C) By offering an interpretation of the advertisers opening statement that, if accurate,
shows that there is an implicit contradiction in it.

D) By painting out that the advertisers point of view is biased

Stop and Restart/Resume Later
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Test
You are taking the following 1est

MNames NRDC/SEPLAT Undergraduste Scholershin Screaning Test 2018/2019
Timer  [Time R'erna'irling [minutes:seconds) 40:50

Prog 5
You heve completed 4 out of 30 questions

Instructions

Cuestion

Use the Subrmit -> Forward bution 1o sawve your answer and move 1o the next queston

Caleulstor

] Sin months or so after getting a video recorder, many early buyers spparently lost interest in obtzining videos to watch
on it. Tha trade of businesses selling and renfing videos is still buoyant, recorders is still growing. But clearly, once the
market for video recorders is saturated, businesses distributing videos face hard times. Which of tha follewing, if true,
would most seriously weaken the conclusion above?

Al The market for video recorders woukd not be considerad saturated until there was ons in
80 percent of homes.

Bl Amaong the items handled by video distribwtors are meany films specifically produced zs
viden features

[¥] Few of the early buyers of video recorders raised any complaints about parformance
aspects of the new pr

[} The early buyers of 2 novel product are always people who are guick 1o scquirs novelties,
but also often as quick 1o tire of them

Submit —= Forward

Stop and Restart/Resume Later
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LORITTLY LT
NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019

Time Remaining (minutes:seconds) : 12:06

L

e campletad 24 out of 30 questions.
ictions

m
Submit —= Forward button to save your answer and move o the next question

If the height of a triangle is decreased by 40% and its base is increased by 40%, what will be the effect on its area?

A) @« Mochange

B) 8% decrease

C) 16% increase

o) Mone of these

M2k

&) Saved data Show original X
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You are taking the following test
Mame MNPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019
Timer Time Remaining (minutes:seconds) = 44:40

Progress
You have completed 0 out of 30 questions

Instructions

Question

Uss the Submit -= Forward button o save your snswer ond move 1o the nexd gquestion.

1) Effective communication involves four slements. Which of the following is not one of those four?
Al the recever
B) the medium
C) the transformer
(1] the message

Submit -> Forward

Stop and Restart/Hesum
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mer |Time Rc—_mainln_g__fmmgtfs sr:cmjds_]_ X 22 34

‘ogress
iu have completed 19 cut of 30 guestions

Instructions

sestion
32 the Submit -= Forward bution to save your answer and move to the next question

1) We should with the dowry practice
Al do with
B} do up
W] do far
o do away with

Stop and Restart/Resume Later

Mizke
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Timer  Time Remaining (minutes:seconds) : 39:26

Progress
You have completed 5 out of 30 questions.

Instructions

Question

Use the Submit -= Forward button to save your answer and move to the next question

Calculator

6) A curriculum vitae s a
A) Brief history of the individual
B) List of the =chool curriculum studied
C) List of extra - curriculum activities
1] A university degree

Submit —> Forward

Stop and Restart/Req
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Mike

Test - NPDC/SEPLAT Undergraduate Scholarship Sereening Test 2018/2019

¥ are takona the (o owing 1est
Meme NFOCSEFLAT Undergracuste Scholarship Screering Test Z005/207%

Timer  [Time Remaining (minuteeseconds) - 2637

Progresa
b e completed 13 cof of 30 guestians.

Wou

the Submifl -» Fomwand bution to save your anower ond move (o the nexi question

14 1,7,15,70,83,7
A
B @ 1T
cl L -1
] T

& Saved data Show original X
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¥ are takona the (o owing 1est
Meme NFOCSEFLAT Undergracuste Scholarship Screering Test Z005/207%

Timer  [Time Remaining (minuteeseconds) - 20046

Progresa

‘o fumwe completed 10 cuf af 30 guestians

& Saved data Show original X




